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What is the independent variable?	__________________________________________
What is the dependent variable?	__________________________________________
Graph the data:
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44)
What does Ohm’s Law state?
What is wrong with this graph even though the independent and dependent are correct?
Explain.
Can you calculate resistance ® from this graph? Explain. What would you have to do?
[image: http://www.learningelectronics.net/images/quiz/03059x02.png]

What units do you have to use when doing electricity problems?

45) Graph of Voltage vs Current for an Unknown Resistor
[image: https://dr282zn36sxxg.cloudfront.net/datastreams/f-d%3A110edcb6e880ad9a1f009b8ac4d8a91d242bd515c70426a0773854a3%2BIMAGE_TINY%2BIMAGE_TINY.1]
Calculate the resistance of the unknown resistor:
46) Indicate the Energy Transformations that take place from start to finish:
[image: http://www.dynamicscience.com.au/tester/solutions1/electric/electricenergy.gif]
[bookmark: _GoBack]
47)
What would be the gear ratio for the following set of gears?
[image: http://www.technologystudent.com/gears1/gear4a.gif]
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22 The diagram helow represents a food web.
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Which level contains organisms that carry out
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‘The concentration of a specific antibody in the blood of an individual was measured
atvarious times over 4 period of 50 days. The reslts btained are showe in the data table

below.
Antibody Concentration in an Individual
pay Antibody Concentration
in Arbitrary Units (arb. units)

5 0

10 110

16 120

25 10

35 200

45 390

50 200
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The antibody level (in arb. units) of the individual on day 30 is closest to
(1) 30 (3) 110
@70 (4) 160
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Federal wildlife officials plan to dispatch armed bird specialists into forests of the
Pacific Northwest starting this fall to shoot one species of owl to protect another that is
threatened with extinction. ...

..“Ifwe don't manage barred owls,the probabiliy of recovering the spotted owls goes
down significantly,” i Paul Henson, Oregon state supersor for Fish and Widhfo. The
agency’s preferred course of action calls for killing 3,603 barred owls in four study areas in
Oregon, Washington and northern California over the nest four years. ..

~-:Mr. Henson said unless barred owls are brought under control, the spotted owl
in coming decades might disappear from Washington’s northern Cascade Range and
Oregon's Coast Range, where the barred owl incursion [takeover] has been greatest.

‘The northern spotted owl was listed as a threatened species in 1990. Barred owls are
bigger, more aggressive and less picky about food. Barred owls now cover the spotted owl's
range, in some places outnumbering them as much as 5-to-1

‘Source: Associated Press, 7126/13
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Describe how the barred owl population is having a negatie effect on the spotted owl population. [1]
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Secondhand Smoke and Estrogen

A fertlity researcher conducted a study of pregnant women. The researchers
hypothesis was that the estrogen levels of pregnant women who were exposed to daily
secondhand cigarette smoke would be higher than estrogen levels of pregnant women not
exposed to dai?:mndh:md e bigh . P

The researcher measured the estrogen levels of eight pregnant women each week
throughout their pregnancy. Four of the women lived in houses with heavy smokers, the
other four did not. The women’s ages varied from 19 to 42 years old. Six of the women
were pregnant with girls, one was pregnant with a boy, and one was pregnant with twin
boys. The research was submitted for peer review.

Analyze this experiment. In your answer, be sure to:

identify one error in the researcher’s experimental design (1]
identify one way. other than affecting estrogen levels, that secondhand smoke could affect a
developing embryo (1]

+ explain why the process of peer review is an important step in this research [1]
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Snowy Owls Move to the South
owls are large white birds that normally inhabit the cold northern regions of
Canads, Rocently, sciontst and bisdhatchers e sighted the snowy owls much farther
south than usual.

When snowy owls are in northern areas, they feed on lemmings (small rodents). When
lemmings are not available, as in the areas further south, the owls will seek out mice or
rabbits as their food source.

Several snowy owls migrated into an area represented by the food web below:

Mountain lions Hawks|
Level Snakes

)
({ﬁ\&ﬂ Rabbns)g / / Frogs

Leel mk‘ wice
Elk \\\&%

Level \(
A Grasses
Trees

Identify one population of organisms shown in the food web, other than rabbits or mice, that would likely be
alfcted by the itroduction af the snovy vl an cxplain why their popuiation wauld be allected. (1]
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What is the primary source of energy for Earths
weather systems?

(1) incoming solar radiation

(2) subtropical jet streams

(3) precipitation from clouds

(4) heat from Earth’s interior
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Most scientists infer that a major factor in the
increased rate of melting of Earths glaciers is

(1) a decrease in the output of energy from the
n

(2) a decrease in Earth’s atmospheric tra

(3) an increase in Earth’s orbital distance from

the Sun

(4) an_increase in carbon dioxide in Earth’
atmosphere
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A black rock burned to make electricity is
A. Obsidian
B. Petroleum
C. Natural gas

D. Coal
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Energy from heat inside the earth is
A. Natural gas
B. Geothermal
C. Terrathermal

D. Petroleum
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Energy from flowing water is
A. Hydropower
B. Flowpower
C. Geoflow power
D. Wind power
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Energy from wood, waste, and garbage is called
A Trash power
B. Biothermal
C. Biomass

D. Human power
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A mixture of gases, that was formed from ancient sea plants and animals
is

A Coal
B. Natural gas
C. Petroleum

D. Geothermal
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Which is a list of fossil fuels?

A. Natural gas, petroleum, coal
B. Petroleum, geothermal, wind
C. Biomass, natural gas, petroleum

D. Coal, obsidian, petroleum
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- What does renewable mean?

Discuss

A Itis a resource that is produced by the earth
B. Itis a resource that is replaced at the same rate that Itis being used.

C. Itis a resource that is formed at a rate that is much slower than the rate at
which itis being used

D. Itis a resource that is made by humans.
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What does nonrenewable mean?

Discuss

A. Aresource that s replaced at the same rate that it s being used
B. Itis a resource that poliutes

C. Itis a resource that is formed at a rate that is much slower than the rate at
which itis being used

D. Itis a resource that is made by humans.
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Which of the following are renewable resources?
Oil and coal
Solar rays and wind
Water and biomass

Biomass and geothermy
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Which of the following is NOT an inexhaustible resource?
Solar rays
Wind
Biomass

Geothermy
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What is energy produced from natural resources used for?
Produce heat
Decrease dependence on fossil fuels
Change the weather

Produce air pollutants
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Why are non-renewable resources used most throughout the world as an energy source?
Because they are expensive
Because they help the environment
Because people enjoy using non-renewable resources

Because they cost less
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Which of the following is a benefit of wind power?

) It produces no air or water pollution. (© Itis ano-emissions energy source.

) It has low operational costs. © Allthe answers are correct.
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Which of the following is a renewable energy source?

) Geothermal © Wind

) Allthe answers are correct. © Biofuels
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What are energy resources that are not easily replenished by the environment known as?

Eolic Non-renewable

Chemical Renewable
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o0 w

‘Jﬂ The sun produces

electricity and light

nuclear power and resources
light and heat energy

heat and fuel
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“ﬂ Natural, reususable forms of energy are

o0 w

sunlight, water, and wind
wind, coal, and oil
electricity, wind, and gas

fossil fuels, wind, and oil
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Radioactive waste is generally treated by

A ammonia to neutralize it

B. bacteria to consume it

C. storage until it gets harmless
D. acid to decompose it
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Only by-product of fuel cell is

A acid

B. water

C gas

D. neutral chemicals
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Energy s released from fossil fuels when they are

A cooled

B. bumed

C. pressurized
D. sterilized
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Petroleum and natural gas are generally formed from remains of

A birds

B. sea organisms
C. mammals

D. plants
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Centain gases in the atmosphere — water va-
por, carbon dioxide, methane and nitrous ox-
ide ~ help maintain the Earth’s temperatures
and climate. These are called: B

A ozone gases
B solar gases

C greenhouse gases
D stomach gases.
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Too many greenhouse gasses in the
atmosphere may block heat from escaping
into space and trap too much heat next to the
Earth’s surface causing: .

Aanother ice age
B global warming

C earthquakes

D volcanic eruptions
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None of theses choices.
The temperature of matter.
The energy of a molecule.

The energy that is transferred between matter at different temperatures.
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What does temperature measure?

The potential energy of molecules.

The heat of matter

The energy of an atom.

The kinetic energy of the molecules.
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1f a torch takes in 501 of energy and transfers 201 to light. What is its
efficiency?

20%

50%

40%
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A fan takes in electrical energy and gives out movement, heat and sound.
Which type of energy is useful?

Heat
Movement
Sound
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1f 903 of energy goes into a torch and 503 is given out as light, how much
is given out as heat - the only other product?

40
203
501
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How much of the eneray in an
average fossil fuel-burning power
plantis lost 25 waste heat?

© About 15 percent
© About 25 percent
© About 45 percent
© About 65 percent
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‘Which type of light bulb s the most
eficient at converting energy into
light?

© Incandescent
© cRL
© LED
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In a simple electric circuit, a 24-ohm resistor is
connected across a 6.0-volt battery. What is the
current in the circuit?

(1) LoA (3) 140 A
(2) 0254 ) 404
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A mechanical device requires 420 J of work to do 230 J of work in lifting a crate. What is the efficiency of the
device?

a 55% o 190%

b 183% d 05%
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The current through a 10.-ohm resistor is
1.2 amperes. What is the potential difference
across the resistor?

(1) 83V (3) 14V

@ 12v () 120V
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A fruit lyi classified a5 consumer rather than
asa producer because it is unable to

(1) reproduce asexually

(2) synthesize its own food

(3) release energy stored in organic molecules
(4) remove wastes from its body




image4.png
The most likely result of completely removing

carbon dioxide from the environment of a plant

is that sugar production will

(1) continue at the same rate

(2) increase and oxygen production will also in-
crease

(3) increase and oxygen production wil stay the
same

(4) decrease and eventually stop.
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Fung are decomposers that play an important role in the maintenance of an ecosystem. The role of fungi is
important because they

(1) synthesize energy-rich compounds that are directly used by producers

(2) break down materials that can then be used by other organisms

(3) limit the number of plants that can perform photosynthesis in an area

(4) are competitors of other consumers such as herbivores




